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Welcome to the Multiplication Facts Practice Workbook. It just takes five minutes a day.
Your child will practice with the same sheet every day which will give them the chance to
improve every day. The practice page is included 60 times in this book. You can print out
this whole book or extra pages if needed from where you purchased this on our site.

The first two weeks will introduce your child to the multiplication facts. They can count
and refer back as much as they need to in order to answer their fact sheets. Every time they
answer correctly, it’s practice. You can check their answers at the end of the book.

When you are ready to use page 8, you’ll need to show your child the tricks for multiplying
by nine to see which one they think is the easiest way to do it. The goal is to get to the point
of not needing the trick, but you need to get the answers in the first place to practice them.

1. You can count on your fingers. If you are multiplying 9 x 7, then you put down
your seventh finger. That leaves six fingers on one side and three on the other.
That’s 63, the answer.

2. The first digit in the answer is one less than the number you are multiplying by.
9 x 6 is 54. Five is one less than six. The second digit is whatever adds up to nine.
5+4 =9 Another example: 8 x 9 =72 Seven is one less than eight and 7 + 2 = 9.

3. Multiplying by 9 is almost multiplying by ten, just one less. You could multiply
by ten and take one away for each time you multiplied by nine, so you could say
9x5is50—5o0r45. 10 x 5 =50 and then we subtract the number we multiplied

by.

Once you get to the facts practice, give your child five minutes on a timer to answer as
many correctly as possible. After five minutes have your child skip to the end and do the
last six problems which are addition and subtraction review. Then check the answers. Write
the total number correct as the score. If you have a child rushing and guessing, subtract off
a point for every incorrect answer. Every day your child beats their high score, reward your
child. Once your child knows them all, he can still continue and work each day to beat his
time record.

Division should come next. You can find the division facts practice workbook either at
GenesisCurriculum.com or allinonehomeschool.com.



Use the examples to write the multiplication problems shown by the images.
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3x4=12

Write the equation shown by the pictures.
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Write the equation shown by the pictures.
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Multiplication is adding over and over and over again. To make it fast and
easy we multiply.

Add.

2+2+2+2+2+2+2+2=

Multiply. To multiply by 2 we just double the number. What’s 8 two times,
eight and eight more? Write it below to answer the multiplication problem.

88X 2=

Can you see how multiplication can be much simpler? It’s faster to write and
to figure out.

Count by twos to answer these multiplication problems. The first answer is
zero. If | give you two candies zero times, you would have no candies. ® If |
gave you two candies one time, how many candies would you have? (That’s
the second answer below.)

2x0= 2X6=
2x1= 2x7=
2x2= 2x8=
2x3= 2x9=
2x4-= 2x10=

2x5= 2x11-=



Multiplication is adding over and over and over again. To make it fast and
easy we multiply.

Add.

3+3+3+3+3+3+3+3=

Multiply. (Hint: It’s the same answer as above. It’s also 8 x 2 plus 8 more
because we’re adding 8 three times today instead of two. That’s the same as
adding three eight times. You can look at it either way!)

8x3=

Count by threes to answer these multiplication problems. Do you remember
the firstanswer? If | gave you three pieces of chocolate zero times, how many
would you have? What if | gave you three pieces one time? Write in the
answers below. Keep counting on three to answer the problems.

3x0= 3X6=
3x1l= 3x7=
3x2= 3x8=
3x3= 3x9=
3x4= 3x10=

3x5= 3x11=



Add.

A+4+4+4+4+4+4+4=

Multiply. (Hint: It’s the same answer as above. It’s also 8 x 3 plus 8 more
because we’re adding 8 four times today instead of three. It’s also 8 x 2 twice.
You can look at it any way that helps you.)

8x4=

Count by fours to answer these multiplication problems. Do you remember
the first answer? If | gave you four pieces of chocolate zero times, how many
would you have? What if | gave you four pieces one time? Write in the
answers below. Keep counting on four to answer the problems.

4x0-= 4x6-=
4x1= 4x7=
4x2-= 4x8-=
4x3-= 4x9-=
4x4= 4x10=

4x5= 4x11-=



Add.

5+5+5+5+5+5+5+5=

Multiply. (Hint: It’s the same answer as above. It’s also 8 x 4 plus 8 more
because we’re adding 8 five times today instead of two. That’s the same as
adding five eight times. You can look at it either way.)

8x5=

Count by fives to answer these multiplication problems. Do you remember
the first answer? Write in the answers below. Keep counting on five to
answer the problems. What do you notice about multiplying by ten and by
eleven? What makes those answers easy to remember?

5x0= 5x6=
5x1= 5x7=
5x2= 5x8=
5x3= 5x9=
5x4= 5x10=

5x5= 5x11=



Practice multiplying. Multiplying by 0 is 0. Multiplying by 1 is just the number
itself. Multiplying by 2 is doubling the number, adding it to itself. Count by
threes, fours, or fives, where you need to in order to figure out the correct
answer.

Ox0= 3x2=
5x1-= 2x7 =
3x4-= 2x9-=
4x0-= 3x8=
4x1-= 5x3=
3x6= 4x0-=
4x4-= 2X8=
3x9= 4x3-=
5x6= 2X6=
2x1= 3x7=

3x5= 4x9=



You know that 2+ 3 =5and 3 + 2 =5. Right?
And you know that2+7=9and 7 +2 =9, right?
Multiplication is just adding, a lot. So it works the same way. We can switch

the numbers around and get the same answer. So you already know what 9
x 2 is and 8 x 5 or at least how to figure them out. What are those answers?

2X9= 9x 2=
5x8= 8x5=
6x4-= 9x3=
8x4 = 7x5=
9x5= 8x3=
6x2-= 7x4=
9x4 = 8x2=
6x3= 7x3=

6x5= 7x2=



Today | want you to practice multiplying by nine. On the parent’s
introduction page of this book, it tells a few different tricks for multiplying by
nine. You can use your fingers, add to nine, or subtract. You can try all three
and see what you think is easiest for you.

O9x2=

9x3=

9x4-=

9x5=

9x6=

O9x 7=

9x 8=

9x9=



You’ve already learned most of the multiplication facts. You still need to
practice them a lot to get them fast, but you almost know them all.

Sometimes the easiest to memorize are the doubles like 3 x3 and 7 x 7. Here
are the doubles you haven’t learned yet.

6x6=36 7x7=49 8x8=64

Practice with these doubles.

1x1-= 5x5=
3x3= 6X6=
Ox0= 4x4=
7x7= 2x2=
8x 8= 9x9=
5x5= 7x7=
4x4= 8x 8=
6X6= 1x1-=
9x9= 3x3=

8x 8= 7X7 =



You're almost done. There are just a few more facts left to learn. We’'ll
practice those today.

6x7=42 7x8=56 6x8=48
7x6=42 8x7=56 8x6=48

Practice with these.

6x8= 7X6=
6X6= 8x7=
O9x 7= 8x6=
7x7= 6x7=
8x 8= 9x9=
7x8= 8x7=
4x6= 3x8=
3x 6 = 8x 1=
9x4-= 6xX7 =

8xX6= 7x8=



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 7=

5x4= 8x9= 17 -8 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8=

5x4= 8x9= 13 -7 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8Xx3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9= 14 -5 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9-=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5b=

5x4= 8x9= 12 -3 =



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+ 3=

oX4= 8x9= 10-3=



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9-=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15—-7 =

10



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =

11



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 1=

5x4= 8x9= 17 -8 =

12



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =

13



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8-=

5x4= 8x9= 13-7=

14



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= Ox6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =

15



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9= 14 -5 =

16



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =

17



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5=

5x4= 8x9= 12 -3 =

18



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+3=

oX4= 8x9= 10-3 =

19



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15-7 =

20



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =

21



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8Xx3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 1=

5x4= 8x9= 17 -8 =

22



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =

23



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8-=

5x4= 8x9= 13-7=

24



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =

25



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9= 14 -5 =

26



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =

27



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5=

5x4= 8x9= 12 -3 =

28



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+3=

oX4= 8Xx9= 10-3 =

29



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15-7 =

30



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =

31



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= Ox6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 1=

5x4= 8x9= 17 -8 =

32



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =

33



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8-=

5x4= 8x9= 13-7=

34



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =

35



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9= 14 -5 =

36



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =

37



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5=

5x4= 8x9= 12 -3 =

38



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8Xx3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+3=

oX4= 8x9= 10-3 =

39



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15-7 =

40



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =

41



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 1=

5x4= 8x9= 17 -8 =

42



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =

43



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8-=

5x4= 8x9= 13-7=

44



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =

45



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9-= 14 -5 =

46



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =

47



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5=

5x4= 8x9= 12 -3 =

48



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= Ox6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+3=

oX4= 8x9= 10-3 =

49



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15-7 =

50



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+7=
[/ X3= 1x9= 17 -8=
8xb= /1 X2= 5+9=
Ox4= 6Xx1= 14 -8 =
[/ X4= 4x3= 3+ 7=

oX4= 8x9= 16 -8 =

51



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 4+ 7=
[/ X3= 1x9= 16 -8 =
8xb= /1 X2= 3+9=
Ox4= 6Xx1= 15-8=
{xX4= 4x3= 2+ 1=

5x4= 8x9= 17 -8 =

52



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+4=
[/ X3= 1x9= 14 -8 =
8xb= /1 X2= 5+5=
Ox4= 6Xx1= 14 -9 =
[/ X4= 4x3= 3+4=

oX4= 8x9= 16 -9 =

53



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+8=
[/ X3= 1x9= 13-6=
8xb= 1 X2= {+5=
Ox4= 6Xx1= 15-6=
71 x4= 4x3= 6+8-=

5x4= 8x9= 13-7=

54



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+5=
[/ X3= 1x9= 14 -9 =
8xb= 1 X2= 4+6=
Ox4= 6Xx1= 12 -7 =
[/ X4= 4x3= 8+4=

5x4= 8x9= 16 -7 =

55



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8Xx3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= (+7=
[/ X3= 1x9= 11-8=
8xb= 1 X2= 5+4-=
Ox4= 6Xx1= 12 -8 =
[/ X4= 4x3= 8+ 7=

5x4= 8x9= 14 -5 =

56



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 6+8=
[/ X3= 1x9= 14 -6 =
8xb= 1 X2= {+6=
Ox4= 6Xx1= 13-5=
71 x4= 4x3= 5+9=

5x4= 8x9= 11 -3 =

57



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 3+9=
[/ X3= 1x9= 12 -5=
8xb= /1 X2= 6+9=
Ox4= 6Xx1= 13-7=
71 x4= 4x3= 8+5=

5x4= 8x9= 12 -3 =

58



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+9=
[/ X3= 1x9= 11-7=
8xb= /1 X2= 8+9=
Ox4= 6Xx1= 11-5=
[/ X4= 4x3= 4+3=

oX4= 8x9= 10-3 =

59



Score:

3xXT7= 3x4= Ox1-=

5x2= 2Xx1= 8XT7=
4x4= 3xb= 2X9=
6XT7 = 5x5= 2X2=
O9x3= 4x2= 4x6=
5x8= 8X6= 8x3=
8x4= Ox2= /x1=
2X3= 6X5= [/ X5=
6X8= 4x7= 6X2=
OXx7= 1x3= OXx6=
1x6= 2X4= 8x1l=
2X8= 3Xx6= Ox9=
6X3= 6XxX9-= 2X 1=
Ox5= 3x9= 1x4=
4x1= 8Xx8= 3X2=
5x3= 4x9= 7/ xX9-=
3x3= 8Xx2= O0x8=
6X4= 4x5= 5X 7=
{X6= 2X5= 3x1=
Ox8= 6X06= (XT=
5x6= /X8= 5x1l=
3X8= 5x9= 1x2=
2X6= 4x8= 2+6=
[/ X3= 1x9= 10 -8 =
8x5= /1 X2= 6+9=
Ox4= 6Xx1= 15-9=
71 x4= 4x3= 6+3=

5x4= 8x9= 15-7 =

60



3x7=21
5x2=10
4x4=16
6X7 =42
9x3=27
5x8=40
8 x4 =32
2X3=6
6X8=48
O9x7=63
1x6=6
2Xx8=16
6x3=18
Ox5=45
4x1=4
5x3=15
3x3=9
6x4=24
1 X6=42
Ox8=72
5x6=30
3x8=24
2X6=12
/x3=21
8x5=40
Ox4=36
/x4=28
5x4=20

ANSWERS

3x4=12
2Xx1=2
3x5=15
5x5=25
4x2=8
8 X 6=48
Ox2=18
6x5=30
4x7 =28
1x3=3
2X4=8
3xXx6=18
6xXx9=54
3x9=27
8x8=64
4x9 =36
8x2=16
4x5=20
2x5=10
6X6=36
/X8=56
5x9=45
4x8=32
1x9=9
Ix2=14
6X1=6
4x3=12
8x9=72

O9x1=9
8 X7 =56
2x9=18
2Xx2=4
4x6=24
8x3=24
Ix1=7
I x5=35
6x2=12
Ox6=54
8x1=8
O9x9=81
2x7=14
1x4=4
3X2=6
7/ xX9=63
0x8=0
5x7=35
3x1=3
7/ x7=49
5x1=5
1x2=2






If you find a mistake in any of our books, please contact us through
genesiscurriculum.com to let us know.

Follow multiplication with division. Learning facts is an important step, similar to learning
phonics in reading. It will enable them to conquer harder math if they are fluent in the
basics. Take the time to practice and gain fluency in math facts.

Genesis Curriculum takes a book of the Bible and turns it into daily lessons in science, social
studies, and language arts. Daily lessons also include reading a portion from the Bible, practicing
a weekly memory verse, discussing a thought-provoking question, and learning a Biblical
language.

Genesis Curriculum also offers:

GC Steps: This is GC’s preschool and kindergarten curriculum. There are three years (ages
three through six) where kids will learn to read and write as well as develop
beginning math skills.

A Mind for Math: This is GC’s elementary school learning-together math program based
on the curriculum’s daily Bible reading. Children work together as well
as have their own leveled workbook.

Rainbow Readers: These are leveled reading books. They each have a unique dictionary

with the included words underlined in the text. They are also updated
to use modern American spelling.

GenesisCurriculum.com






